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1| — AR B ImlF100LL 0 0
2| KiGH MEhianze| fEt | A
|\ T A AF L RO T 0.01mg/ILLF <0.001
4|HEEAREEE R ) OV R e 22 55 10mg/1LLF 0.91 0.90
5w 0.6mg/1LA T <0.06
6|/ aafi: 0.02mg/1LLF | <0.002
7|7aakn 0.06mg/1LA T <0.001
== 0.03mg/1LLF <0.002
A=t 4=1=5.2 V] 0.1mg/ILL <0.001
10| R /e 0.01mg/1LLF <0.001
L1[FeRUmAZ 0.1mg/1LLF <0.001
12|~ o e 0.03mg/1LAF [ <0.002
IR] A 4=1=b & 0.03mg/1LAF [ <0.001
14| 7 aErL A 0.09mg/ILA F <0.001
15|FL L7 TR 0.08mg/1LLF <0.003
16|$k R OZ DAY 0.3mg/ILL <0.01 <0.01
173 A4 200mg/1LL 8.2 7.8
18| FIREY 500mg/1LL T 112
19|+ (At SR) TOC 3.0mg/ILAF 0.3 <0.3
20 [pH & 5.8L4 18.6LL T 7.2 7.1
21 [k BETROWIE | BEARL
22| RA WHETRNIE | BERL | WL
23|t SELLT <1 <1
24| 2L €0.1 <0.1
B R MR R 1.0mg/1LAF 0.1

RO7.03AHKERE




KEREHRRE - EBE(RERYIOEHKE)

SFITEIH 5
K b1 4 v ke by KiE k4 U ha ik
X W 4 il TR K (Hk)
i 7K Vil % JEEA M + R HEHE 25 N A K H 202543 A4 H
[ # i ] £ () ki ESERI S ARG AR 2 —
& K1 K2
H H 4 O E | Bk | FIEDK| K
1| — e ImlF100LA T 0 0 4
2| K miishienze| Sl | A | i
T A AF L RO T 0.01mg/ILLF <0.001
4R REEE R R OHAHFA B2 55 10mg/ILLF 0.15 0.15 0.15
5w 0.6mg/1LA T <0.06
6|7 g 0.02mg/184 F <0.002
APA=1=0 N 0.06mg/1LL <0.001
== 0.03mg/1LLF <0.002
A=k 4=1=5.2 V] 0.1mg/ILL 0.001
10| &R 0.01mg/1LA F <0.001
L1[FeRU N mAZ 0.1mg/1LLF 0.002
12|~ & e 0.03mg/1L4L F <0.002
IR] ARSI 4=1=8 & 0.03mg/1L4 F 0.001
14| 7 aEmL A 0.09mg/ILL <0.001
15|V AT VTR 0.08mg/1LA T <0.003
168k O DL &Y 0.3mg/1LLF <0.01 0.02 <0.01
173 A4 200mg/1LL 8.2 8.1 6.0
18| FIREY 500mg/1LL T 90
19|+ (At SR) TOC 3.0mg/ILAF 0.3 <0.3 0.5
20 [pH & 5.8L4 8.6 L1 T 7.2 7.3 7.4
21 [k BETRNIE | BEARL | BElel
22| R& BETRNIE | BERL | BERL | BERL
23|t SELLT <1 <1 2
24| 2L €0.1 <0.1 <0.1
W R YRR 1.0mg/ILL T 0.1 0.1
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1| — A% B Iml$1100LL F 0 0
BNV Bshianze| SRl | A
[>T A A A e ONEAL Y T 0.01mg/ILLF <0.001
4| RHERRE 2 R N NI R R 25 S 10mg/ILAF 0.51 0.50
5|EERR 0.6mg/1LL T <0.06
6|7 m o fFElg 0.02mg/12AF [ <0.002
7|/aakn A 0.06mg/1LL T <0.001
| A== 0.03mg/1LL T <0.002
9|Y T uEI/HEAZ 0.1mg/ILL <0.001
10 R Flk 0.01mg/1LLF <0.001
I RNV =P 0.1mg/ILL T <0.001
12[N) 7o fElg 0.03mg/1LLF | <0.002
IR] PA=S Y d=i=t & 0.03mg/12AF [ <0.001
4|7 aEdL A 0.09meg/ILL <0.001
15| RV LT AFER 0.08mg/1LL F <0.003
16[8k X DL EY) 0.3mg/ILL T <0.01 0.02
17| A4 200mg/1LL 8.1 8.0
18| ZEFIE W) 500mg/1LL T 90
19| 1 (S FEIRSE) TOC 3.0mg/1LA <0.3 <0.3
20| pH1E 5.8 F8.6LLF 7.1 7.1
21| A TRNZE | BERL
] BETRNIE | BEARL | Bl
23| S S5ELLTF <1 <1
24| 2L <0.1 <0.1
WEEEFR R Y SR 1.0mg/ILA T 0.20
KEG# % (MPN/100ml) FEHETR L 0
WU SR B %% (fiE/100ml) UL 0
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